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Consider the following statements regarding Assam Rifles

1. The Assam Rifles is the oldest Central Para Military Force in India.

2. The Force was raised primarily to guard the alluvial plains of Assam from the wild and unruly tribes.

3. It functions under the control of Ministry of Defense.

Which of the statements given above are correct?

A.1land 2 only B. 2 and 3 only C.1and 3 only D.1,2and 3

Consider the following statements regarding Home Guards

1. Home Guards is a voluntary force to assist the police in controlling civil disturbances and communal
riots.

2. All citizens of India, who are in the age group of 18-50, are eligible to become members of Home
Guards.

3. Normal tenure of membership in Home Guards is 8 to 10 years.

Which of the statements given above are correct?

A.land 2 only B. 2 and 3 only C. land 3 only D.1,2and 3

Consider the following statements regarding Rajiv Gandhi Shramik Kalyan Yojana (RGSKY)

1. Inorder to get benefits under RGSKY, the eligibility of contribution condition has been increased from
two to three years.

2. In order to encourage employment of disabled persons, the employers’ share of contribution in respect
of such disabled employees is paid by the central government for the whole duration of employment.

Which of the statements given above is/are correct?

A. lonly B. 2 only C.Both1and2 D. Neither 1 nor 2

Consider the following statements regarding Minimum Wages Act, 1948

1. The Minimum Wages Act, 1948, was enacted to safeguard the interests of the workers in the organised
sector only.

2. Under the provision of the Act, only state governments are the appropriate governments to fix, revise,
review and enforce the payment of minimum wages to workers.

Which of the statements given above is/are correct?

A. lonly B. 2 only C.Bothland 2 D. Neither 1 nor 2

Consider the following statements regarding National Skill Development Corporation

1. Itisapublic private partnership firm set up by the Ministry of Finance, under the Companies Act, 1956.

2. It has an equity base of Rs. 1000 crore, of which the government holds for 49 per cent, while the private
sector has the balance 51 per cent.

Which of the statements given above is/are correct?

A. 1lonly B. 2 only C.Bothland?2 D. Neither 1 nor 2

Consider the following statements regarding Prasar Bharati Board

1. The Minister of Information and Broadcasting is the ex-officio chairman.

2. The Executive Member (also known as Chief Executive Officer) is a whole-time member with a five-
year tenure subject to an age limit of 65 years.

Which of the statements given above is/are correct?

A.1only B. 2 only C.Both 1and 2 D. Neither 1 nor 2

Consider the following statements regarding Press Trust of India

1. Press Trust of India (PTI) is a non-profit sharing cooperative owned by the country’s newspapers.

2. Only Indian newspapers can be its subscribers.

3. It offers its news services in English and Hindi languages.

Which of the statements given above are correct?

A.1land 2only B. 2 and 3 only C.1and 3 only D.1,2and 3

Consider the following statements regarding Press Council of India

1. The Press Council of India is a statutory quasi-judicial autonomous authority.

2. The Chairman has, by convention, been a sitting or retired Chief justice of the Supreme Court of India.

3. The representatives of the two Houses of Parliament cannot be its members.

Which of the statements given above are correct?

A.land 2 only B. 2 and 3 only C.land 3only D.1,2and 3
Development Monitoring and Evaluation Office is an attached office under

A. Cabinet Secretariat B. NITI Aayog

C. Prime Minister’s office D. Department of Financial Affairs

Consider the following statements regarding Rural Self Employment Training Institute

1. RSETIs are NGO-led initiatives with the active support of state government.

2. The Government of India provides one time infrastructure support of Rs. 1 crore.

3. RSETIs are expected to train 750 rural poor youth each year to take up self-employment in the area
they reside.

Which of the statements given above are correct?

A. land 2 only B. 2 and 3 only C. land 3 only D.1,2and 3



